BC Calculus – FDW 3rd Edition – Section 3.6 Even Answers

Quick Review 3.6   2. 
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   6. g(f(x))   8. h(g(f(x)))   10. f(g(h(x)))
Section 3.6
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40. (a) 
[image: image20.wmf](

)

2

2cos1

xx

+

 (b) 
[image: image21.wmf](

)

2

2cos1

xx

+

  42. 
[image: image22.wmf]32

yx

=+

   44. 
[image: image23.wmf]23

yx

=-

   46. 
[image: image24.wmf]4

yx

=-


48. y = 2   

50. Since the radius goes from the origin (0,0) to 
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 and has a slope of 
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. Now the circle has a derivative (slope of the tangent line) given by: 
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 and this is the negative reciprocal of 
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. Therefore the tangent line is perpendicular to the radius (as we know from geometry).
52. 3   54. y = mx   

56. (a) 2/3  (b) 
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  (d) 37/6  (e) -1  (f) 
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58. (a) 1  (b) 6  (c) 1  (d) -1/9  (e) -40/3  (f) -6  (g) -4/9
60. See pp 237-238 for a discussion of ‘differentials’ (dy and dx) which are defined as separate entities. At this point in our study of calculus, dy/dx is the limit of a quotient and a single real number.  62. (a) On the 101st day (April 11th) (b) About 0.637 degrees per day
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 interesting… v(x) vs v(t)… 
Anyway…  
[image: image35.wmf](

)

(

)

()()

'()()

dfxdfx

dvdx

dtdtdxdt

afxfx

===×=

   68. No contradiction. The ‘weak form’ of the chain rule states that if the two functions are differentiable at their respective points, then the composite is differentiable, etc… As we see in this case, the composite may be differentiable but the functions need not be both differentiable. 

70. False, see Section 3.5 #50   72. E   74. A   76. As 
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, the second curve (difference quotient) approaches the first, 
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 (The 1st curve is the derivative of 
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78. Since y = |x| = 
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 ,we usually define the derivative in piecewise fashion also, 
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 but also:  
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 (signum function?). 
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Quick Quiz (3.4 - 3.6)  2. A  4.(a) 2m  (b) -2t+1 m/s  (c) 
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